THE ENGLISH LANGUAGE CONTEST - KONKURS JEZYKA ANGIELSKIEGO

Patronat naukowy: FOX W 202 2
Instytut W £
Filologii Angielskiej Y
UJ w Krakowie Regionalne Stowarzyszenie Oswiatowe ,KAGANEK"

Regionalny Osrodek Doskonalenia Nauczycieli ,WOM"
w Bielsku-Biatej

Klasy VII i VIII szkét podstawowych.
Czas trwania konkursu - 75 minut.
Podczas konkursu nie wolno uzywaé zadnych pomocy naukowych!

Good Luck!
Zadania po 3 punkty
1.  The plurals are:
1. tomato a) tomatoes b) tomatos
2. 0ven a) ovens b) ovenes
3. spoon a) spoons b) speen
4. knife a) knifes b) knives

A) 1-a, 2-b, 3-3,4-b  B) 1-a, 2-a, 3-3,4-b C) 1-b, 2-a, 3-b,4-a D) 1-b, 2-3, 3-a, 4-b

2. Don’t touch the hot pot or else you will ..... yourself.
A) smoke B) burn C) fire D) light

3. Jeff has 200K likes on his Facebook.
A) Jeff has 2 000 likes on his Facebook. C) Jeff has 20 000 likes on his Facebook.
B) Jeff has 200 000 likes on his Facebook. D) Jeff has 2 000 000 likes on his Facebook.

4. Annie needs to measure about 8 oz of water for her recipe. However, she only has the
following cup sizes to do that: 1 cup, % cup, Y4 cup. She’ll use:
A) Yacupand Yacup  B) Y. cup C)1cup D) % cup

5.  Thesilent letter in the sentence Roland wanted to dress up as a ghost for Halloween is in:
A) wanted B) to C) dress D) ghost

6.  There is/are ..... correct answer(s) to:
“Can | have another piece of cake, please?”
“Sure.”, “Small or big?”, “You’re welcome”, “Yes, please.”

A1l B) 2 C)3 D)4
7. The capital of Australia is:

A) Perth

B) Sidney

C) Canberra
D) Melbourne

8.  On special and formal occasions Scottish men wear ..... :
A) kilts
B) sporrans
C) waistcoats
D) frocks

DUCKS 2022 - 1



10.

Artful Dodger in Oliver Twist is a name ..... to what the boy did.
A) in contrast C) neutral
B) in accordance D) none of the previous

Oliver Twist was born in:
A) London C) a small town somewhere in England
B) Italy D) America

Zadania po 4 punkty

11.

12.

13.

14.

15.

Those cookies taste ..... .
A) awfully good B) awfully well C) awful good D) awful well

My friend asked me if I ..... shopping with her the following day.
A) go B) went C) would go D) will go

A shape you can’t see in the picture is a:

A) triangle
B) square
C) trapeze
D) rectangle

C) D)

Pronounced as one letter,
And written with three,
Two letters there are,
And two only in me.

I’m double, I’m single,
I’'m black, blue, and grey,
I’m read from both ends,
And the same either way.

A) gig B) eye C) Mom D) wow
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16. Match

1) ' 2) ’ 3) | 4) '

a. What a pity you didn’t pass the exam!

b. Look! There’s a spider on the pillow.

C. Tell me more. I’m so interested in it. What’s next?

d. I’'m glad it didn’t break!

A) 1-b, 2-d, 3-c,4-a B) 1-b, 2-¢, 3-a,4-d C)1-c,2-d, 3-a,4-b D) 1-c, 2-3, 3-d, 4-b
17.  When Joe Biden was elected the President of the USA, Kamala Harris became:

A) the VIP B) the VP C) the Next One D) the Double
18. Carnegie Hall in New York is a performance place for ..... .

A) traders B) architects C) musicians D) scientists
19. In Oliver Twist , match the characters with what they did.

I ... always had a black cloak on. a. Nancy

2. ... got killed because of helping Oliver. b. Mr Brownlow

3. set up a gang of thieves. c. Harry Maylie

4, ... adopted Oliver. d. Monks

5..... chose love over political career. e. Oliver

6. .... caught a fever after lying in the rain for too long. f. Fagin

A)1d2a3f4c5b6e B)ld2a3f4b5c6e C)1f2a3d4b5c6e D) 1f 2¢c 3d 4b 5a 6e
20.  According to Oliver Twist, there are ..... false facts.

Harry decided to become a lawyer in order to marry Rose.

Oliver is Rose’s nephew.

Mr Brownlow notices a strong resemblance between Oliver and Rose.

Monks is Oliver’s half-brother.

Nancy kidnaps Oliver from the street.

A) 2 B)3 C)4 D)5

Zadania po 5 punktow

21. No one knows the right answer, ..... ?

A) do they B) does he C) don’t they D) doesn’t he
22.  “y’all d’ve f Id’ve” means:

A) you all would have if | would have C) you all had have if I would have

B) you all had had if I had had D) you all would have had if I would have had
23. The vegetarian dishes are:

A) Falafel, Fried rice, Chickpea salad, Grapefruit and goat cheese fennel salad

B) Antipasto chickpea salad, Avocado chips, Keto egg salad, Mutton korma

C) Shrimp burgers, Falafel, Antipasto chickpea salad, Bunless bacon, egg and cheese
D) Basil avocado shrimp salad wraps, Spinach artichoke dip, Turkey club cups
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24,

25.

26.

217.

28.

29.

30.
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The word that completes both sentences is:

Did you ..... the news to our new employee.

He got up at the ..... of day.

A) break B) fall C) spell D) stop

The waiters were rude and unhelpful, the manager ditto.

A) The waiters were rude and unhelpful and the manager punished them.

B) The waiters were rude and unhelpful, and so was the manager.

C) The waiters were rude and unhelpful because the manager let them be so.
D) The waiters were rude and unhelpful, and the manager fired them.

Why are we still here? You said it’d last an hour, ..... .

A) tops B) most C) period D) once
UCLA stands for:
A) University of California, Los Angeles C) Unknown Chronicles of Lost Articles

B) United Companies of Limited Associations D) Universal Care for Luxiorious Amber

The US Congress is made up of:

A) The House of Representatives and the Senate

B) The House of Commons and the Senate

C) The House of Lords and the House of Representatives
D) The House of Commons and the House of Lords

The punishment for murder in the times depicted in Oliver Twist was:
A) a prison sentence of 10 years C) life imprisonment
B) a prison sentence of 25 years D) a death sentence

The word that completes each of the sentence taken from Oliver Twist is:
1.“How dare you kidnapped me ..... the street” Monk protested.

a) out of b) off

2. “If she ..... better, I would have lost my chance for ever.”
a) had not gotten b) didn’t get

3. When she heard the shocking news, she ..... into tears.

a) blowed b) burst

4. She never threw ... the flowers that Harry brought, but kept them even after they had dried.
a) off b) out

5. The opening was too small for a man, but Oliver could ..... through it easily.

a) fit b) slim

6. “But then his rich uncle died in Italy and he had to go there to ..... his inheritance.
a) claim b) own

7. A few days later, Sikes was found ..... in a slum.

a) hiding b) to hide

8. “What did you see?” “A ..... on the wall”

a) shade b) shadow

A) la2a3b4b5a6a7b8b B)1lb?2a3a4dababa7a8a
C)1b2a3b4b5a6a7a8a D) 1b2a3b4b5a6b7a8b
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